
  
 SCE-STMMK INSTALLATION 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

BILL OF MATERIAL 
ITEM QTY. PART DESCRIPTION PART ID 

1 8 (IN LRG/SML PLATES) STANDOFF, BLIND, 10-32 X 1/2”, STEEL, ZINC CLEAR 100009 

2 8 (IN INNER BRKT) NUT, SELF CLINCH, 10-32 X 0.038”, STEEL, ZINC CLEAR 100023 

3 4 CHANNEL NUT, 1/4-20, 0.81 TO 1.00 x 1.63in, STEEL, ZINC 100967 

4 16 FLANGED BOLT, HEX HEAD SLOTTED, 10-32 X 0.38, STEEL, ZINC CLEAR 102480 

5 4 FLANGED BOLT, HEX HEAD SLOTTED, 1/4-20 X 0.75, STEEL, ZINC CLEAR 102528 

6 1 BRACKET, CENTER MOUNTING NA 

7 2 BRACKET, INNER MOUNTING NA 

8 2 BRACKET, OUTER MOUNITNG NA 

9 1 MONITOR MOUNTING PLATE, LARGE NA 

10 1 MONITOR MOUNTING PLATE, SMALL NA 



  
 SCE-STMMK INSTALLATION 

 

2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ADJUSTS TO FIT BOTH STYLES 
OF SCE WORKSTATIONS 


